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Part A

This part contains ﬂ“;“ bunchef of questions carrying equal weightage. Each bunch has
our questions. Answer all twelve questions.

A. Fill in the blanks :

1 Two variables are said to be
change in the other variable.

if the change in one variable results a Corresponding

analys'is helps to um_ierstand how the value of the dependent variable changes when
any one of the independent variable is variate.

3 The outcome of a random experiment is calied

4 A normal curve with zero mean and unit standard deviation is termed as —————.
B Choose the correct answer from the bracket :
5 The values of probability lie between :

(a) 0and - a. (b) Oand 1l
(c) Greater than 1. (d) None of these.
6 Poisson distribution is the limiting form of :
(a) Normal distribution. (b) Frequency distribution.
() Binomialdistribution. ~ (d) Chi-square distribution.
7 The % area under Normal curve covered by Mean + 1.Standard deviation is
(a) 34.185. (b) 95.45.
(c) 68.27. (d) 47.725.
tribution is called :

8 Standard deviation of' a sampling dis
' (b) Mean.

(d) Variance.

(a) Sigma.
(c) Standard Error.
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~obtained : ¥x = 544 ¥ X2

o

Y .o caid tobe -
moving and varying in the same direction ; Correlatmn-ls ‘
hically represented by :

f a random experiment is

it is true is referred toas: . -
(12 x %= 3 weightage)

Iftwo v
Normal distribution 1s grap

The set of all the sample points ©
ull hypothesis when

called as :

Rejection ofan

Part B

| nine questions in one or two sentences each.

Answer al .
n carries a weightage of 1.

Each questio
What do you mean by Quantitative Techniques ?
Define Probability.

‘Define Correlation.

What do you mean by Multiple Regression ?
What do you mean by Combination ?

State the addition theorem of Probability.
What is a discrete random variable ?

What are the parameters of a binomial distribution ?

What is a Non-parametric test ? .
(9 x1=9 weightage)

Part C
Answer any five questions.
_ Each question carries a weightage of 2.

What are the major types of Quantitative techniques used in business Explai

‘ ain.

The i indivi -
11:;::3 u:li 10: md_[:dual; at tt(n)e st.a]r)t anc; ﬁnisl; of é:ain;;:lg pr;)gramme are as follows
Eberm: 4 8 10 7 2 5'9.3 6 i
s :::mn ) ;mk 4 9 5 10 7 2 3 8 6
Correlation Coefficient

For 17 observation ic were
§ on price (X) and quantity supplied (Y), the following data W€
’ 1n

=1 . i

equations of the twpo regression in lip |
es.
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. fo
» Committee . FMmed f .
fe €ONSists of (q) 5 boys 1. EOUP of 8 boys and 7 girls. Find the probability that
The probability that 414 2 girls. (b) at least one girl.
26 ata batsma ’
N 8coreg g century in a Cricket match is % . Find the probability

97 Between the hours of o p century in (a) exactly 2 matches. (b) No match.

-_— _ m. ; .
coming into the switch boarq 0:11 3 * pim, the average number of telephone calls per minute
minute, there will he (a) E aLompany js 2 5, Find the probability that during one particular
Xactly 2 calls, (b) No phone calls at all.

98 The Weekly Wages of 1
000 workers are normally distributed around a mean of Rs.700 and

with a standard deviatigp of i
. Rs.50. Estimate the number of workers whose weekly wages will

(a) between Rs.700 ang Rs.720 .and
(b) between Rs.690 and Rs.720.

that out of 5 matcheg . h
v 1@ l'nay sco
re

(5 x 2 = 10 weightage)
Part D -

Answer any two questions.
Each question carries a weightage of 4.

29 What is hypothesis testing ? Enumerate the steps in testing of hypothesis.

30 Following Table gives the result of the SSLC Examination held in 2008 :
Age of Candidates : 21 20 19 18 17 16 15 14 13
% Failure : 55 47 49 39 37 34 43 41 39

Caleulate Coefficient of Correlation and estimate Probable error.

From the result can it be definitely asserted that failure is correlated with age ?

31 Three persons X, Y and Z are simultaneously shooting at a target. Probability of X hitting the

. . t of Z hitting is /4. Find the probabilit

tﬂfgetisy,ghittingthemrgetm%andthao itting % probability
. . t least one of them will hit the target.

( {11 hit the target and (b)a

a) exactigor one of them will (2 x 4 = 8 weightage)



